Приложение 2.
	Вариант 1.

Переведите:

340 Кбайт=________________бит

340 Кбайт=________________байт

8000 байт=_______________Кбайт

350 Мбайт=______________Кбайт

400 Гбайт=_______________Кбайт

35000000байт=___________Мбайт

75 Гбайт=________________Мбайт
300000000 бит=___________Мбайт

560000 Кбайт=_________Гбайт

10 Гбайт=__________________________бит


	Вариант 2.

Переведите:

156 Кбайт=______________бит

156 Кбайт=______________байт

7200 байт=______________Кбайт

400 Мбайт=_____________Кбайт

300 Гбайт=______________Кбайт

48000000байт=___________Мбайт

90 Гбайт=________________Мбайт.
5000000 бит=____________Мбайт

780000Кбайт=____________Гбайт

13 Гбайт=_______________________бит
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